
CHEMISTRY

BOOKS - NCERT FINGERTIPS CHEMISTRY (HINGLISH)

AMINES

Mcqs

1. Nitrogen atom of amino group is ___hybridised.

A. sp

B. 

C. 

D. 

Answer:

sp2

sp3

spd

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TYiFXGl1tjTm


Watch Video Solution

2. The strongest base among the following is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C6H5NH2

p − NH2C6H4NH2

m − NO2C6H4NH2

C6H5CH2NH2

3. The most basic amine among the following is

https://dl.doubtnut.com/l/_TYiFXGl1tjTm
https://dl.doubtnut.com/l/_9awSATop1Bue
https://dl.doubtnut.com/l/_BMeLCmslwzXz


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_BMeLCmslwzXz


4. Arrange the following compounds in increasing order of basicity:

, , , 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3NH2 (CH3)2NH NH3 C6H5NH2

C6H5NH2 < NH3 < (CH3)2NH < CH3NH2

CH3NH2 < (CH3)2NH < NHNH3 < C6H5NH2

C6H5NH2 < NH3 < CH3NH2 < (CH3)2NH

(CH3)2NH < CH3NH2 < NH3 < C6H5NH2

5. Cyclohexylamine is stronger base than aniline because

A. in aniline electron pair is involved in conjugation

B. in cyclohexylamine electron pair is involved in conjugation

C. in aniline-  group is protonatedNH2

https://dl.doubtnut.com/l/_0ovQkZQZUTWM
https://dl.doubtnut.com/l/_7jvGb8otfDNi


D. in cyclohexylamine nitrogen has a negative charge.

Answer:

Watch Video Solution

6. Which of the following amines will give carbylamine reaction?

A.  Only

B.  only

C.  only

D.  only

Answer:

Watch Video Solution

(C2H5)3N

(C2H5)2NH

C2H5NH2

C3H7NHC2H5

7. Which of the following is used as Hinsberg's reagent?

https://dl.doubtnut.com/l/_7jvGb8otfDNi
https://dl.doubtnut.com/l/_iaeSZnjRwueC
https://dl.doubtnut.com/l/_OjHMGcg7C9dn


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C6H5SO2Cl

C6H5SO3H

C6H5NHCH3

C6H5COCH3

8. The reaction of benzenesulphonyl chloride with ethylamine yields

A. N-ethylbenzenesulphonamide, insoluble in alkali

B. N,N-diethylbenzenesulphonamide, soluble in alkali

C. N,N-diethylbenzenesulphonamide, insoluble in alkali

D. N-ethylbenzenessulphonamide, soluble in alkali

Answer:

W h Vid S l i

https://dl.doubtnut.com/l/_OjHMGcg7C9dn
https://dl.doubtnut.com/l/_RzQqDrSsj8XU


Watch Video Solution

9. Identify X,Y and Z in the given sequence of reactions 

A. X=HBr , Y=  , Z=heat

B.  ,  , 

C.  ,  , 

D. 

Answer:

Watch Video Solution

NaNO2 + HCl

X = Br2 /CCl4 Y = HNO2 Z = CH3OH

X = Br2 /CuBr Y = NaNO2 + HCl Z = NaOH

X = Br2(aq), Y = NaNO2 + HCl(0 − 4∘ c), Z = H3PO2 + H2O

https://dl.doubtnut.com/l/_RzQqDrSsj8XU
https://dl.doubtnut.com/l/_ZcQH2VDdimLG


10. Match the compounds given in column I with column II and mark

the appropriate choice. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(A) → (iv), (B) → (iii), (C) → (i), (D) → (ii)

(A) → (ii), (B) → (iv), (C) → (iii), (D) → (i)

(A) → (ii), (B) → (i), (C) → (iv), (D) → (iii)

(A) → (ii), (B) → (iii), (C) → (iv), (D) → (i)

https://dl.doubtnut.com/l/_TR5is0yAJjmX


11. Coupling of diazonium salts of following takes place in the order 

A. IVltIIltIIIltI

B. IVltIIIltIIltI

C. IIltIVltIltIII

D. IltIIltIIIltIV

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_IBL0lCkH5Erx


12. Match the column I with column II and mark the appropriate choice. 

 


A. 

B. 

C. 

D. 

(A) → (iv), (B) → (iii), (C) → (ii), (D) → (i)

(A) → (iii), (B) → (iv), (C) → (i), (D) → (ii)

(A) → (ii), (B) → (iii), (C) → (iv), (D) → (i)

(A) → (i), (B) → (ii), (C) → (iii), (D) → (iv)

https://dl.doubtnut.com/l/_1wEyp6LLxLtZ


Classification

Answer:

Watch Video Solution

1.  cannot represent

A.  amine

B.  amine

C.  amine

D. quaternary ammonium salt.

Answer:

Watch Video Solution

C3H9N

1∘

2∘

3∘

https://dl.doubtnut.com/l/_1wEyp6LLxLtZ
https://dl.doubtnut.com/l/_YdaaRsM0Eyvx


Preparation Of Amines

2. Which of the following is a primary amine .?

A. tert-Butylamine

B. sec-Butylamine

C. Isobutylamine

D. Dimethylamine

Answer:

Watch Video Solution

1. IUPAC name of the compound  is

A. 2,2-diethylmethanamine

B. N,N-diethylmethanamine

(C2H5)2NCH3

https://dl.doubtnut.com/l/_skmgJTP1dnVI
https://dl.doubtnut.com/l/_Q7EVQcxTfBLB


C. N-ethyl-N-methylethanamine

D. N-methylbutanamine

Answer:

Watch Video Solution

2. Reduction of aromatic nitro compounds using Fe and HCl gives…

A. Aromatic primary amines

B. aromatic secondary amines

C. aromatic tertiary amines

D. aromatic amides.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Q7EVQcxTfBLB
https://dl.doubtnut.com/l/_APsBRanPdLNP


3. Secondary amines could be prepared by

A. reduction of nitro compounds

B. reduction of amides

C. reduction of isonitriles

D. reduction of isonitriles

Answer: C::D

Watch Video Solution

4. Reduction of  with hydrogen in presence of Ni or Pt as

catalyst gives

A. 

B. 

C. 

CH3CH2NC

CH3CH2NH2

CH3CH2NHCH3

CH3CH2NHCH2CH3

https://dl.doubtnut.com/l/_PGOEsNIrx0NT
https://dl.doubtnut.com/l/_sAIAmaPVLRVa


D. 

Answer:

Watch Video Solution

(CH3)3N

5. Identify X, Y and Z in the given reaction: 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH2 = CH2

Br2

−−→
CCl4

X
NaCN

−−−−−→
( 2 moles )

Y
LiAlH4

−−−→ Z

      X           Y                Z

CH2BrCH2Br CH3CH2CH2CN CH3CH2CH2CH2NH2

      X           Y                Z

CH2BrCH2Br CH3CH2CN CH3CH2CH2NH2

      X           Y                Z

CH3CH2Br CH3CH2CN CH3CH2CH2NH2

      X           Y                Z

CH2BrCH2Br NCCH2CH2CN H2NCH2CH2CH2CH2NH2

https://dl.doubtnut.com/l/_sAIAmaPVLRVa
https://dl.doubtnut.com/l/_s39XgQXgv6Ny


Chemical Reactions

1.  


Product would be

A. 

B. 

C. 

https://dl.doubtnut.com/l/_DzbJXem1PRkR


D. 

Answer:

Watch Video Solution

2. Primary amines react with benzoyl chloride to give

A. Benzamides

B. ethanamides

C. imides

D. imines

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_DzbJXem1PRkR
https://dl.doubtnut.com/l/_EReU9knfes0b
https://dl.doubtnut.com/l/_hDpSsHE7YZR3


3. what is obtained when benzoyl chloride reacts with aniline in the

presence of sodium hydroxide?

A. Benzoic acid

B. Benzanilide

C. Acetanilide

D. Azobenzene

Answer:

Watch Video Solution

4. Acetylation of a secondary amine in alkaline medium yields

A. N,N-dialkylacetamide

B. N,N-dialkylamine

C. N,N-dialkylamide

D. acetyl dialkylamine

https://dl.doubtnut.com/l/_hDpSsHE7YZR3
https://dl.doubtnut.com/l/_xqJ4YXomOOOI


Answer:

Watch Video Solution

5. Primary and secondary amines react with acid chloride or acid

anhydride to form

A. tertiaryammonium salts

B. substituted amides

C. diazonium salts

D. nitro compounds

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_xqJ4YXomOOOI
https://dl.doubtnut.com/l/_2i015JtbCq0r


6.  


 in the above reaction sequence is .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3CH2Cl
NaCN
−−−→ X

Ni/H2

−−−→ Y
Acetic

−−−−−→
anhydride

Z

Z

CH3CH2CH2NHCOCH3

CH3CH2CH2NH2

CH3CH2CH2CONHCH3

CH3CH2CH2CONHCOCH3

7. Which of the following compounds cannot be identified by carbyl

amine test ?

A. 

B. 

CH3CH2NH2

(CH3)2CHNH2

https://dl.doubtnut.com/l/_MGTyRQkjc7KP
https://dl.doubtnut.com/l/_Vn80ph5Dxk4S


C. 

D. 

Answer:

Watch Video Solution

C6H5NH2

C6H5NHC6H5

8. The action of nitrous acid on an aliphatic primary amine gives

A. secondary amine

B. nitroalkane

C. alcohol

D. alkyl nitrite

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Vn80ph5Dxk4S
https://dl.doubtnut.com/l/_0mcPOVoakVmX


9. Which of the following compounds reacts with  and HCl at 0-

 to give alcohol/phenol?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NaNO2

4∘C

C6H5NH2

C2H5NH2

CH3NHCH3

C6H5NHCH3

10. Identify 'Z' in the sequence 

A. 

B. 

C6H5NH2

NaNO2 +HCl
−−−−−−−−→

273K
X

CuCN
−−−→ Y

H + /H2O

−−−−−→
Boil

Z

C6H5CN

C6H5CONH2

https://dl.doubtnut.com/l/_pfuH2Gsas61Z
https://dl.doubtnut.com/l/_NcstDhfEfsWG


C. 

D. 

Answer:

Watch Video Solution

C6H5COOH

C6H5CH2NH2

11. Primary and secondary amines are distinguished by:

A. 

B. HClO

C. 

D. 

Answer:

Watch Video Solution

Br2 /KOH

HNO2

NH3

https://dl.doubtnut.com/l/_NcstDhfEfsWG
https://dl.doubtnut.com/l/_9r5nejh3kBDc


12. An organic compound   when treated with nitrous acid

, gave an alcohol and  gas was evolved. (A) on warming with 

and caustiv potash gave  which on reduction gave

isopropylmethylamine. Predict the structure of (A).

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(C3H9N) (A)

N2 CHCl3

(C)

CH3CH2 − NH − CH3

CH3 − N
∣

CH3

− CH3

CH3CH2CH2 − NH2

https://dl.doubtnut.com/l/_R8ekvhHQguOC


13. Match the column I with column II and mark the appropriate choice. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(A) → (i), (B) → (ii), (C) → (iii), (D) → (iv)

(A) → (ii), (B) → (iii), (C) → (iv), (D) → (i)

(A) → (iv), (B) → (i), (C) → (ii), (D) → (iii)

(A) → (iii), (B) → (iv), (C) → (i), (D) → (ii)

14. Which of the following amine does not react with Hinsberg's

reagent ?

https://dl.doubtnut.com/l/_wsKNxNn5Chs4
https://dl.doubtnut.com/l/_4Mtzru0r12AU


A. 

B. 

C. 

D. All of these

Answer:

Watch Video Solution

CH3CH2 − NH2

CH3 − NH − CH3

(CH3CH2)3N

15. The structure of product X in the following reaction is 

A. 

https://dl.doubtnut.com/l/_4Mtzru0r12AU
https://dl.doubtnut.com/l/_rg8jFmmIbkFa


B. 

C. 

D. 

Answer:

Watch Video Solution

16. Identify X, Y and Z in the given sequence of reactions. 

https://dl.doubtnut.com/l/_rg8jFmmIbkFa
https://dl.doubtnut.com/l/_LCD00wACXk6U


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

17.  


The end product S in the given sequence of reactions is

C6H6

HNO3
−−−→
H2SO4

P
Sn/HCl

−−−−→ Q
NaNO2
−−−−→
HCl

R
H3PO2
−−−→
H2O

S

https://dl.doubtnut.com/l/_LCD00wACXk6U
https://dl.doubtnut.com/l/_7J6qJ56tgPIO


A. Benzoic acid

B. benzene

C. phenol

D. chlorobenzene.

Answer:

Watch Video Solution

18. o-Chloroaniline is treated with a mixture of  and HCl and the

product is reacted with cuprous bromide. The final product in the

reaction will be

A. 

B. 

NaNO2

https://dl.doubtnut.com/l/_7J6qJ56tgPIO
https://dl.doubtnut.com/l/_7USDQB32MoCS


C. 

D. 

Answer:

Watch Video Solution

19. The product 'D' in the following sequence of reactions is 

A. 2,4,6-tribromofluorobenzene

B. fluorobenzene

C. p-bromofluorobenzene

D. tribromobenzene

https://dl.doubtnut.com/l/_7USDQB32MoCS
https://dl.doubtnut.com/l/_AI1BSdqXWeTq


Ncert Exemplar

Answer:

Watch Video Solution

1. Which of the following is a  amine

A. 1- Methylcyclohexylamine

B. Triethylamine

C. tert-butyl amine

D. N-Methylaniline

Answer:

Watch Video Solution

3∘

https://dl.doubtnut.com/l/_AI1BSdqXWeTq
https://dl.doubtnut.com/l/_QXTJZjOyAI2c


2. The correct IUPAC name for  is

A. allylmethylamine

B. 2-aminon -4- pentene

C. 4- aminopent - 1 - ene

D. N- methylprop- 2- en - 1 - amine

Answer:

Watch Video Solution

CH2 = CHCH2NHCH3

3. Amongst the following, the strongest base in aqueous medium is

A. 

B. 

C. 

D. 

CH3NH2

NCCH2NH2

(CH3)2NH

C6H5NHCH3

https://dl.doubtnut.com/l/_r5R321ZXCBIk
https://dl.doubtnut.com/l/_Ato8DQ5EsAQq


Answer:

Watch Video Solution

4. Which of the following is the weakest Bronsted base?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3NH2

https://dl.doubtnut.com/l/_Ato8DQ5EsAQq
https://dl.doubtnut.com/l/_OMbI1OvhSMMg
https://dl.doubtnut.com/l/_7Ibuhrp9DIuP


5. Benzylamine may be alkylated as shown in the following equation 

 

Which of the following alkyl halides is best suited for this reaction

through  1 mechanism?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C6H5CH2NH2 + R − X → C6H5CH2NHR

SN

CH3Br

C6H5Br

C6H5CH2Br

C2H5Br

6. Which of the following reagents would not be a good choice for

reducing an aryl nitro compound to an amine?

A. H2 ( excess ) /Pt

https://dl.doubtnut.com/l/_7Ibuhrp9DIuP
https://dl.doubtnut.com/l/_uQcFPPYVXQaf


B.  in ether

C. Fe and HCl

D. Sn and HCl

Answer:

Watch Video Solution

LiAlH4

7. In order to prepare a  amine from an alkyl halide with

simultaneous addition of one  group in the carbon chain, the

reagent used as source of nitrogen is…..

A. sodium amine, 

B. sodium azide, 

C. potassium cyanide, KCN

D. potassium phthalimide, 

Answer:

1∘

CH2

NaNH2

NaN3

C6H4(CO)2N
−K +

https://dl.doubtnut.com/l/_uQcFPPYVXQaf
https://dl.doubtnut.com/l/_ll9H7q0Zb0oA


Watch Video Solution

8. The source of nitrogen in Gabriel syntheisis of amine is..

A. sodium azide, 

B. sodium nitrite, 

C. potassium cyanide, KCN

D. potassium phthalimide, 

Answer:

Watch Video Solution

NaN3

NaNO2

C6H4(CO)2N
−K +

9. Amongst the given set of reactants, the most appropriate for

preparing  amine is ……

A. 

2∘

2∘R − Br + NH3

https://dl.doubtnut.com/l/_ll9H7q0Zb0oA
https://dl.doubtnut.com/l/_PuyUta9pthe9
https://dl.doubtnut.com/l/_wnQxZWHKRyFY


B.  followed by 

C.  followed by 

D. (2 mol) + potassium phthalimide followed by 

Answer:

Watch Video Solution

2∘R − Br + NaCN H2 /Pt

1∘R − NH2 + RCHO H2 /Pt

1∘R − Br

H3O
+ /  heat

10. The best reagent for converting 2-phenylpropanamide into 2-

phenylpropanamine is

A. excess 

B.  in aqueous NaOH

C. iodine in the presence of red phosphorus

D.  in ehter.

H2

Br2

LiAlH4

https://dl.doubtnut.com/l/_wnQxZWHKRyFY
https://dl.doubtnut.com/l/_iCr3I7ThYEjm


Answer:

Watch Video Solution

11. The best reagent for converting, 2-phenylpropanamide into 1-

phenylethanemine is….

A. excess 

B. 

C.  . Methanol

D. / ehter

Answer:

Watch Video Solution

H2 /Pt

NaOH /Br2

NaBH4

LiAlH4

12. Hoffmann bromamide degradation reaction is shown by______________

https://dl.doubtnut.com/l/_iCr3I7ThYEjm
https://dl.doubtnut.com/l/_SJE473xOm7bh
https://dl.doubtnut.com/l/_XNLhbOiVcVs4


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ArNH2

ArCONH2

ArNO2

AeCH2NH2

13. Methylamine reacts with  to form….

A. 

B. 

C. 

D. 

Answer:

W h Vid S l i

HNO2

CH3 − O − N = O

CH3 − O − CH3

CH3OH

CH3CHO

https://dl.doubtnut.com/l/_XNLhbOiVcVs4
https://dl.doubtnut.com/l/_rzdEYIBrr9k3


Watch Video Solution

14. The gas evolved when methylamine reacts with nitrous acid is….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NH3

N2

H2

C2H6

15. In the nitration of benzene using a mixture of conc.  and

conc.  , the species which initiates the reaction is…

A. 

B. 

H2SO4

HNO3

NO2

NO+

https://dl.doubtnut.com/l/_rzdEYIBrr9k3
https://dl.doubtnut.com/l/_bAOWieRXljMg
https://dl.doubtnut.com/l/_kuK6NTlYGUvm


C. 

D. 

Answer:

Watch Video Solution

NO+
2

NO−
2

16. Reduction of aromatic nitro compounds using Fe and HCl gives…

A. aromatic oxime

B. aromatic hydrocarbon

C. aromatic primary amine

D. aromatic amide.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_kuK6NTlYGUvm
https://dl.doubtnut.com/l/_n2sq0RONSLcf


17. The most reactive amine towards dilute hydrochloric acid is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3 − NH2

18. Acid anhydrides on reaction with primary amine gives…

A. amide

https://dl.doubtnut.com/l/_9m9c1WAGAOzU
https://dl.doubtnut.com/l/_NODo8XjxRTo0


B. imide

C. secondary amine

D. imine.

Answer:

Watch Video Solution

19. The reaction  is named as….

A. Sandmeyer reaction

B. Gatterman reaction

C. Claisen reaction

D. Carbylamine reaction

Answer:

Watch Video Solution

Ar
+

N2Cl
Cu /HCl

−−−−→ ArCl + N2 + CuCl

https://dl.doubtnut.com/l/_NODo8XjxRTo0
https://dl.doubtnut.com/l/_IUsoDeqL3QCx


20. Best method for preparing primary amines from alkyl halides

without changing the number of carbon atoms in the chain is

A. Hofmann b romamide reaction

B. Gabriel phthalimide synthesis

C. Sandmeyer reaction

D. Reaction with 

Answer:

Watch Video Solution

NH3

21. Which of the following compounds will not undergo azo coupling

reaction with benzene diazonium chloride?

A. Aniline

B. Phenol

https://dl.doubtnut.com/l/_wUrsbiljRSyE
https://dl.doubtnut.com/l/_uLT6BD7fEd8r


C. Anisole

D. Nitrobenzene

Answer:

Watch Video Solution

22. Which of the following compounds is the weakest Bronsted base?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_uLT6BD7fEd8r
https://dl.doubtnut.com/l/_0XQdFi2Wke6v


D. 

Answer:

Watch Video Solution

23. Among the following amines, the strongest Bronsted base is….

A. 

B. 

C. 

NH3

https://dl.doubtnut.com/l/_0XQdFi2Wke6v
https://dl.doubtnut.com/l/_SMYML9JXGIyp


D. 

Answer:

Watch Video Solution

24. Which of the following methods of preparing of amines will give

same number of carbon atoms in the chain of amines as in the

reactant?

A. Reaction of nitrite with .

B. Reaction of amide with  followed by treatment with

water.

C. Heating alkyl halide with potassium salt of phthalimide followed

by hydrolysis.

LiAlH4

LiAlH4

https://dl.doubtnut.com/l/_SMYML9JXGIyp
https://dl.doubtnut.com/l/_1h6QCRq4UDQu


Ncert Exempler Problems

D. Treatment of amide with bromine in aqueous solution of sodium

hydroxide.

Answer:

Watch Video Solution

1. The correct increasing order of basic stregth for the following

compounds is ________________ . 

A. 

B. 

II < III < I

III < I < II

https://dl.doubtnut.com/l/_1h6QCRq4UDQu
https://dl.doubtnut.com/l/_zFATBnoZxVGC


C. 

D. 

Answer:

Watch Video Solution

III < II < I

II < I < III

https://dl.doubtnut.com/l/_zFATBnoZxVGC

